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Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Sunita deposits Rs.7500 at the end of every year at 15% rate of

compound interest with a bank. Find out what amount she would receive at the end

of 20 years from the bank.
If f(x) = X *-1 find f(0) + f(-1) + f(2) + f(3)
Explain the following terms:-

(1) Annuity (i1) Banker’s Gain

Discuss the types of functions.
Write the rules of limit.
Write the working rules of differentiation.

Find lim x° -32.
Xx—2 - 8
Find lim x*>+x-2

x—1 3x"—2x-1
If Y = 7x’ +5x*-20x+37 find dy/dx.

5,9, 13 find 15" term.
3, 8, 13, 18, e, find the sum of first 50 terms
Insert three arithmetic means between 3 and 33,

What do you mean by linear programming? .Write its limitations
What is the meaning of the graph of system inequality? Explain closed half plane?
Draw the graph of linear inequality x + 2y <4

Find the values of:
(1) 11p2 = 9pa (ii) 6p2 * 7p2
(1) 8cs+8cs (i1) 8¢y + 40c37
Write the formulas for Trade discount and Bankers Gain.

In how many ways 4 books of statistics and 3 books of economics
And 5 books of accountancy can be arranged in a row so that
All the books of one subject are kept together?
A box contains 4 red 3 black and 5 yellow balls. In how many ways
3 balls can be picked so that

(1) All the balls are of different colors
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(i1) 2 balls are of same color and one is of different color
(i11) All the three balls are of same colour.
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